:!zﬁil’ﬁliliélﬁ 2022 45 FE 55 = WG B BB AR K & L A 2
/| EFEHEARL

UEZFACAS: 300290 UEZFAIRR: SRR NG5 2022-063

RAB A FRAF
2022 B HE =IKIEI IR K& RIXA T

AN R H SRR DRIE S S5 N RIS HERA SR, WA R

W IR PR B R -
A 7R -
1. AR K2 AR LA . A RECE B SRS

2

v ARUBIR R 2T R R, T TR AR R 2 R DL

— WA FEERL

1. BHLTE]: 20224210 H12H (E#I=) TF4-14:30

2. SO AT T I T B X 5 H AR T R X R KBS T H 35 s Bl RS =
BEE,

3. 2WBEN: AFEFS

4
5.
6

~ 2WATFT R RIS IR S MR IR A S T
SWERFFA: HFER @A
s WAL S AFRIARRBAE RS AE. AR AR RTT

e (PHEANRIANEAFRE) « (B ANRITNEIEZRE) - (CERARBAR
RN A CREIBH AR AT IR~ 7 FERE) SFEARILE -

.
#7128

eit2

v AR ETE DL AR AR RS IR K RARRIL e N, AR AF I
992,600/, HAE R4 ME20.1791% . Hor: T3 H R I A R IR AR R
N, REA T IEAr937,500%, 5 A A 03 S0 110.1467%; EIT MK E RS

H AR R R IR B R ARFR T4, ARERA F] 47 128,055,1000% , 5 A ]
ety S 401120.0325% . AR AR Kax /N (JRBRARIESR. WF. &
RE N AU SR EE TR A F15% LA E A 1 25 LA HAth i 2D S R 4K
FIAF3AN, AREA T BA55,100/%, 2 & B4 . %$10.0086%

8

- HESWHAA G AFER, W SPOE BN R ASAIRBOR K I



:!zﬁil’ﬁliliélﬁ 2022 45 FE 55 = WG B BB AR K & L A 2
/| EFEHEARL

UERIT .

=L WRFURRENR

NEV AU AR 23 18I DU 5 N P S A 25 G i 7 s AT R vk, W i0E s
I ANYES

WHR 1L (RTETHERSTHRTERIRS S B ST RREFER
EKAAFRIRBIBE SRR

RIRGEIR: [FRE 128,973,900 i, & HF 2 WA R BUB {7 B 20K 99.9855%
SN 5 18,700 JBE, i R 2 WO R B 63 S B0 0.0145% . FEALEE O i, o
SV R RBUB A S HL 0%

Horp, HRE SR N B R G L [R5 36,400 B, 7 R 2 i/
TRFT R SR BBy B 66.0617% . S 4T ZE 18,700 B, o 45l B /NI AR
FTREA R AU AR 5 45 33.9383% . FANLEE O i, o HH RS S R /N AR TR 21
RPNy R HL) 0%

=, BiHEREREL

O3 ) L BEE AL ORI R BRI 55 £ 8 AR TR KA A W AR R
AR R HAT T WAE, FEH AT (bt R E AT F 55 fr ok TR BHRHE
A BRA R 2022 AR REEE = IRIGIS AR R B L), R WA A&
WA RSMEE. BHEPRE CATNE)  RARKRSHM) Sk, R, M
WSO S (AR R A RE, HEARKRAR RSN AR, HAENERK
EVE AR AR ARERE MR RITR RRFET LR IRERIIEE AR

M. &K

1. CRABIEHE BT R A 5] 2022 4R 55 = IR I AR R 23 kil

2+ (BT R BRI 55 I G T SRR A PR A W] 2022 4R FE 58 =Xl
I AR R A L)

RN

RERHH R B R A B ERES
—O=-—_%t+H+=H



